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AP Chemistry Period: 5 @

You will get the use of a calcalator only for the first 7 minutes. Show your work for all questions;
answer all parts of all questions. No work = no eredit.
L. (8pis) Place the following in order of decreasing energy. _
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Ans: (Write the leters.)

2. (6 pts) Label the following as permissidle (P)or forbidden (F) quantum number scts
o Ifpermissible, write which shell and subshell i¢ eprescats.
= T forbidden, briefly describe why the st s forbidden.
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3. (3 pi) Chooss any three of tho four cms below and recor the color. Circle tr lete (s — ) of
the thres that you would like graded.
a. The most common elemental fom ofodine LIk, pugle

b A flame test of barium gren
. A solution of zine () colubis

d. The most common elemental form of phosphorus W 4¢ ¢4
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5. (9p1s) Farsach of the following clement s, circle theftem tha: corretly it th description.
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‘You will g the use of a calculator oaly for the first 7 minutes. Show your work for all questions;
amswer all parts of all questions. No work = no credit.
1. (8 pts) Place the following in onder of decreasing frequency.
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B. Light emitted as part of the Brackett series
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« (6p1s) Label the following as permissible (P) or forbidden (F) quantum number sets.
« Ifpermissible, sketch and name the shape of the subshell i represens (may be more than one.
possible answer.)
o Ifforbidden, bricfly describe why the set i forbidden.
a GLL#A

b (5,2,0,-%)

« (3 pis) Choose any three of the four items below and record the color. Circle the leter (a — d)
Of the three that you would ke graded.
. The most common elemental form of bromine:
b. A flame testof copper
. A solution of nickel (1)

. The most common elemental form of fluorine.
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. Describs Paul’s principle and horw it spplies/docs not apply 1o the slactronic
configurations of the zbove clements.

+ (9/pts) For cach of the folowing clement ses,circl t5¢ item that cartetly fits the description.
then provide a brief explanation (i 1 10 2 sentences) for your choice in terms of atom:c
siucture.
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You will get the use of a calculator only for the first 7 minutes. Show your work for all questions;
answer all parts of all questions. No work = no credit.
1. (8 pts) Place the following in order of increasing energy.
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B. Light emitted as part of the Paschen series
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2. (6 pts) Label the following as permissible (P) or forbidden (F) quantum number sets.
e If permissible, write which shell and subshell it represents.
e If forbidden, briefly describe why the set is forbidden.

a.

b.

(3:251, %) P 24

(0,L,0,-%) g e boen

3. (3 pts) Choose any three of the four items below and record the color. Circle the letter (a — d) of
the three that you would like graded.

a.

b.

The most common elemental form of sulfur Y ellow
A flame test of strontium red
A solution of iron (IIT) s10y e

The most common elemental form of chlorine ye low
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4. (5 pis) Give the noble gas electronic conf
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5. (9/pts) For cach of the following clement sets, circle the item that correctly fis the description,
then provide a brie? explanation (in 1 fo 2 semiences) for your choica in ferms of atomic stctur.
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